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Ex : Find the area of, one petal in ④
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the 4 - leafed rose given by
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A vector -

valued function
#

in 3d

is a
function of the form
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Let L be a line in3d .

LetPo( xo , yo , to )

be a point on the line ,

Let 8=9,44 be

a vector in the direction of L
,

ie let

I be parallel to L .
LetPcxy, z )

be

another point on L
.
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An equation

of the line passing

through ( Xo , yo , Zo
) in the

direction of the vector I -
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a Find the interval of convergence

-

of Ean ( x - a )
"

using the ratio left

and testing endpoints

• Finding power
series via integration

and differentiation

9,3 -

. Finding Taylor ) Maclaurin series

-

either by 9.2 methods

norexplicitly
calculating
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. Using the power series to solve

limit problems

. differentiate power series ( # 35 )
• bien a power series turn it

into a function f Hutt 55 ,
57,591
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④ p④

⑦Find the Maclaurin series

for f Cx ) = 3× and its

radius of convergence .
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Notes We don't have a function to

integrate or
differentiate like in the

example In ( It 4x ) = ¥4 ,
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Where does this converge ?



£a!?Ixk ④
k = o

L = hi:/ "i¥÷
,

I

k !

hi.:i¥iiu¥
= tin

I I txt
ki x

= txt Liz FLIT1=1×1
. 0=0

Since O E La I
,
the series

converges

for all x
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EI : Find a power series for P④
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But it might

also converge
at the endpoints

Since we
differentiated

to

find The series
.

You can check ,
it won't
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